
MAKE: STYLE:

MIN.15

WARNING: NEVER EXCEED YOUR VEHICLE MANUFACTURER'S RECOMMENDED TOWING CAPACITY

WEIGHT CARRYING:

 INSTALLATION TIPS:

 INSTALLATION REQUIRES:

 VEHICLE PHOTO:

HITCH ILLUSTRATION:

 REPRESENTATIVE PHOTO

 MAKE SURE YOUR HITCH MATCHES

 LEVEL OF DIFFICULTY: EASY

EASY MODERATE CHALLENGING

1. BEFORE YOU BEGIN INSTALLATION, READ ALL

INSTRUCTIONS THOROUGHLY.

2. TO EASE INSTALLATION, 2 PEOPLE MAY BE

REQUIRED.

3. USING PROPER TOOLS WILL GREATLY IMPROVE

THE QUALITY OF THE INSTALL AND REDUCE THE

TIME REQUIRED.

Safety glasses should be 

worn at all times while

installing this product .

YEARS: 2015 FORD MODEL: TRANSIT VAN

8,000

800

TRAILER WEIGHT:

TONGUE WEIGHT:

14012 INSTALLATION INSTRUCTIONS

LBS.

LBS.

WEIGHT DISTRIBUTION:

TRAILER WEIGHT:

TONGUE WEIGHT:

10,000

1,000

LBS.

LBS.

MIN.30

IF YOU  ARE  HESITANT  TO UNDERTAKE

THIS TASK ON YOUR OWN, CONTACT AN AUTHORIZED

CURT INSTALLER FOR ADDITIONAL ASSISTANCE.

 NOVICE INSTALL TIME:

 PRO INSTALL TIME:

SAFETY

GLASSES

WIRE PIPE

BRUSH

RATCHET

SOCKET

EXTENSION

3"

SOCKET

15mm

3/4"

TORQUE

WRENCH

LOWER SPARE TIRE

ENLARGE HOLE

CLEAN WELDNUTS

FISHWIRE HARDWARE

POWER

DRILL

9/16"

DRILL BIT

SPRAY

 LUBRICANT

http://www.carid.com/curt/


Parts List

DESCRIPTIONPART NUMBERQTYITEM

CARRIAGE BOLT1/2-13 x 1 1/241

HEX FLANGE NUTHFN 121342

.250 x 1.00 x 3.00" SQUARE HOLE SPACERCM-SP643

1/2" x 30" FISHWIRE1_2 x 30 FISHWIRE44

INSTALLATION WALKTHROUGH:

NOTE: Lower spare tire for eaze of installation.

1. Remove (2) bolts in each frame rail and set aside for install.

3. Fishwire (1) 1/2 bolts and spacers into each bumper frame rail.

Raise hitch into loaction and secure with the factory M12 bolts

and (1) 1/2" hex nuts.

4

3

1

2

FACTORY BOLTS

DRIVER SIDE

PLATE

PASSENGER SIDE

PLATE

DRILL HOLE

(BOTH SIDES)



INSTALLATION WALKTHROUGH:

4. Raise spare tire into location if lowered.

Instalation Complete

2. Drill out the 1/16 hole using 9/16" drill bit in each rear bumper rail.

Fishwire (1) remaining 1/2 bolts and spacers into each bumper frame rail.

 Torque M12 bolts to 90 ft-lbs

 Torque 1/2" hex nuts to 110 ft-lbs 





Parts List

DESCRIPTIONPART NUMBERQTYITEM

CARRIAGE BOLT1/2-13 x 1 1/241

HEX FLANGE NUTHFN 121342

.250 x 1.00 x 3.00" SQUARE HOLE SPACERCM-SP643

1/2" x 30" FISHWIRE1_2 x 30 FISHWIRE44

GROSS LOAD CAPACITY WHEN USED AS A WEIGHT CARRYING HITCH:              LBS. TRAILER WEIGHT &          LBS. TONGUE WEIGHT.
 GROSS LOAD CAPACITY WHEN USED AS A WEIGHT DISTRIBUTION HITCH:              LBS. TRAILER WEIGHT &             LBS. TONGUE WEIGHT

***DO NOT EXCEED VEHICLE MANUFACTURER'S RECOMMENDED TOWING CAPACITY.***

INSTALLATION STEPS

PERIODICALLY CHECK THIS RECEIVER HITCH TO ENSURE THAT ALL FASTENERS
ARE TIGHT AND THAT ALL STRUCTURAL COMPONENTS ARE SOUND.

8,000 800
10,000 1,000

2015 FORD TRANSIT14012

30

45

15

HITCH WEIGHT:        LBS.

INSTALL TIME

 PROFESSIONAL:       MINUTES

 NOVICE (DIY):        MINUTES

INSTALL NOTES: 

 NOTE: Lower spare tire for ease of installation.

1. Remove (2) bolts in each side frame rail with the M12 socket and set aside for install. Clean frame rail weldnuts as needed

with lubricant and brush.

2. Then fishwire (1) 1/2 bolts and spacers into each bumper frame rail.

Raise hitch into location, careful not to push bolts back into frame and secure with the factory M12 bolts and the (1) 1/2" hex nut.

3. Drill out the 1/16 hole using 9/16" drill bit in each rear bumper rail.

Then fishwire (1) remaining 1/2 bolts and spacers into each bumper frame rail.

 Torque M12 bolts to 90 ft-lbs

 Torque 1/2" hex nuts to 110 ft-lbs

4. Raise spare tire into original location if lowered for install.

PASSENGER SIDE

FRAME RAIL

DRIVER SIDE 

FRAME RAIL

TOOLS REQUIRED

SAFTEY GLASSES

SPRAY LUBRICANT

WIRE PIPE BRUSH

RATCHET 

15mm, 3/4" SOCKET

3" SOCKET EXTENSION

POWER DRILL 

9/16" DRILL BIT

TORQUE WRENCH

1

3

2

4

9/16"Ø

DRILL HOLE

(BOTH SIDES)

- LOWER SPARE TIRE

- WELDNUT CLEANING

- DRILLING REQUIRED

- FISHWIRE REQUIRED

FACTORY HARDWARE

Learn more about trailer hitches and towing we have.

https://www.carid.com/trailer-hitches.html

